SHAFE11AFHHE  GHRD
= BEEN 5 | {fifE (£ 2 E47588)
=t X BOX | BOHEX | TEME | B & A E | keB{fi | HECEME
1 &2 bR =053 RIEA 1,156,000 279 389 2,972 4,143
2 Eii S REA ok 1,016,000 258 370 2,746 3,938
3 & 2 b BHEX RIEA 908,000 301 354 2,565 3,017
4 B2 S TIEA 908,000 260 362 2,508 3,492
5 & 2 b TIBA ok 875,000 285 342 2,558 3,070
= BEER 5 i +% (Mt L f588)
JIE 5z R BOX | BOMERX | HEME | B & A &2 | keB{fi | B&cE(M
1 ERAER TIBA FE1{EE 782,000 289 340 2,300 2,706
2 ] i FB REA 772,000 280 361 2,139 2,757
3 B2 1R fg BT ELE 759,000 295 331 2,293 2,573
4 182 1 SR EE#% 755,000 291 377 2,003 2,595
5 18 2 1 =153 TER 755,000 304 331 2,281 2,484
FEREA R A S [{liMR(ES BES L (1588)
gL BB B | el | RIEME | FHEE | FHEE| FIRE| kel | BEHEE
BZIE 29 1,156,000 402,000 776,207 283 349 2,224 2,743
=88 24| 816,000 554,000 673,875 284 339 1,988 2,373
BENTE 16| 799,000/ 530,000 666,125 297 351 1,898 2,243
fLZ1E 12| 827,000 428,000 637,750 289 338 1,887 2,207
EEH 11| 818,000 494,000 664,818 293 346 1,921 2,269
EROKER 11| 752,000 402,000 630,364 284 341 1,849 2,220
FEREA R ERS AR (M BE%k E{I588)
EiEd4| BB BN | el | RIEME | FHEE | FHEE| TR E| kB | HEEm
=88 22|  730,000f 386,000] 549,136 295 310 1,771 1,861
B2IE 14| 759,000 473,000 595072 293 304 1,957 2,031
BEEE 13| 740,000 412,000 497,846 305 309 1,611 1,632
HEE 9|  772,000] 492,000 610,666 307 342 1,786 1,989
EE# 8| 707,000 423,000 563,500 298 307 1,836 1,891
EHSFIESHEIORE
%Al B | el | RIEME | FEHEE | FHEE | FHAE| kBl | B R
=8 16/ 799,000/ 530,000 628,923 297 351 1,792 2,118
HY 13| 740,000 412,000 437,800 305 309 1,417 1,435
&t 29|  799,000| 412,000 533,361 301 330 1,616 1,772
TEFEES] EEFORE
% Al R BOX | BOHERX | REME | B & K B | keB(fi | BEGHEE
=8 |EHENE |EFE ZEA 799,000 294 351 2,276 2,718
H9 |BEENTE |RRA BHEX 740,000 305 366 2,022 2,426




